FRET ATV F T4 KRKE 600HE

BFDE

NEfL K# g E1TIERE (m)
1 " B— NEFTH 18,067
2 t@ B= IRAE T 15,771
3 EH =25 il 15,5672
4 LA IER YRR T 15,062
5 A T 14,873
6 B B T 14,619
7 =8 28 R 14,145
8 =% 285 il 13,860
9 "E 2R R 13,700
10 MER B2 - FHHET 13,686
11 A —1 AT 13,585
12 WA &k TRAE T 13,534
13 BT e il 13,475
14 —E #MA =Xkl 13,344
15 R B IREET 13,124
16 R OB W RE T 12,966
17 KBS IRAE T 12,777
18 1L Ko =Xkl 12,721
19 B A& YRR 12,642
20 g =F il 12,568
21 mH EX ekl 12,5634
22 NR A R 12,467
23 S AT 12,432
24 AN KEh il 12,426
25 A FH =N 12,384
26 BH M= il 12,340
27 HR 1E3l IRFE T 12,292
28 WA JEIE YRRk 12,260
29 IR R fERT™ 12,152
30 ATk BEx IREE™ 12,081
31 BR ER YRRk 12,039
32 WA FHIE )T 11,973
33 Tim RX il 11,941
34 wlll R il 11,855
35 AEF R il 11,790
36 A EE R 11,784
37 R il 11,748
38 S BABL FIX™ 11,729




TR TARZYVF Y74 RE 600HE SFOH
39 I8 R 11,673
40 WE B HET 11,639
41 L s TREET 11,636
42 R 25k TREET 11,635
43 XE BE HRR&TH 11,609
44 ZNIT e 11,5699
45 =4 K R 11,577
46 2 1B =il 11,469
47 LA FA TREET 11,443
48 =M B TREET 11,442
49 AR ME B & TH 11,375
50 Ba Sff fRRE ™ 11,332
51 fE Rl TREET 11,305
52 Al TREET 11,290
53 ANE HE TREET 11,282
54 HA TREET 11,249
55 2 TREET 11,242
56 MR KRR TREET 11,241
57 = HRRSTH 11,160
58 F BE HE™ 11,001
59 AR EA HRR&TH 10,968
60 AN rE HRR&TH 10,964
61 Sim RiE AT 10,915
62 NE T TREET 10,910
63 NKR - FN HRR&TH 10,907
64 AR e HRR&TH 10,901
65 EH  EE TREET 10,864
66 GE BE HRR&TH 10,811
67 NI 1B IR 10,758
68 KA HE B RS TH 10,751
69 R FRHR il 10,685
70 A B TREET 10,649
71 WA B AT 10,621
12 KA wmE 72D 10,5672
73 MHEE HRR&TH 10,5672
14 WE R e 10,507
75 TR B R 10,468
16 =R R AT 10,314
I HO 2L ISelok] 10,310




TR TARZYVF Y74 RE 600HE SFOH
18 KH L& TREET 10,305
79 E¥FIEA HRR&TH 10,268
30 Bt ®#& TREET 10,243
81 B e ISelok] 10,191
82 =K &S IR 10,146
33 =8 1EE 72D 10,109
34 N S BRI™ 10,108
85 EH = TREET 10,074
86 7 EA AT 10,060
87 FH R 10,051
38 tH = EABHET 9,929
89 A A ™ 9,699
90 IR R HRR&TH 9,639
91 1T IBE= TREET 9,479
92 BE R fRRE ™ 9,435
93 S TREET 9,434
94 BEAX TE HRR&TH 9,335
95 NE KR R 9,197
96 PR = HE™ 9,138
97 BR X TREET 8,308
98 t% EE e 8,573
99 R M Ha™ 3,501
100 aH RR HRR&TH 8,458
101 TR —ih TREET 8,457
102 =TS AT 8,450
103 S5E FE HET 8,204
104 wE B St 3,198
105 Wil R TREET 3,101
106 e EER HET 7,917
107 B &5 R 7,864
108 WE  IEAM TREET 1,847
109 HA EH AT 7,804
110 KA A AT H] 7,134
111 UNERC S HRRSTH 7,250
112 EA MR TREET 7,244
113 PPE B HRR&TH 6,956
114 B thE TRAET 6,773
115 mH BB TRAET 6,333
116 b 5 TREET 6,261




TR TARZYVF Y74 RE 600HE SFOH
117 PANGER [l 6,234
118 = e TREET 5,580
119 Bl AR HE™ 5,104
120 hH i AT 4,950
121 =K BX TREET 4,644
122 28 2 HRRSTH 4,124
123 Bt AR HRR&TH 3,995
124 BT E% TREET 3,904
125 BIE A& TREET 3,743
126 Ko = S0 2,351
127 —1 FF RET 1,880
128 NTF EE TREET 1,461
129 YEE B RET 213
130 MR BFR TREET 120
131 B R EABHET 111




